
Tel:+44(0)1491 824424
www.revotec.com

RENAULT 5 TURBO 2
ASSEMBLY INSTRUCTIONS

B-R5TURBO2

KIT
CONTENTS

FAN
ASSEMBLY

SIGNED OFF BY: DATE:

Copyright ©2025 Revotec Ltd. DOCUMENT: 070106 ISSUE 03 - JUNE 2025

130247

130246

To assemble the fan kit, refer to the illustration above. You'll notice that both the upper and lower brackets are equipped with integral studs. Guide these studs through the 
corresponding fixing holes on the fan shroud. Once the studs protrude, place an M6 washer onto each, followed by an M6 nyloc nut, and tighten to secure the brackets 
firmly. Once the fan kit is fitted to the vehicle, ensure the fan blade is free-spinning and that the assembly is not distorted.
The RTB-2 can be used to convert your existing wiring loom to match the fans connector. 

IMPORTANT
NOTES

This Revotec cooling kit has been engineered to provide perfect replacement to the Renault 5 Turbo 2 cooling fan.
However it is essential that the other components in the cooling system are operating correctly. The following must be checked:

1.The radiator has a normal life expectancy of approximately 8-9 years, 
after this time it should be thoroughly assessed and any signs of deterioration,

such as furring up internally or distortion, a replacement is recommended.

2.The radiator fins must be clear of all debris such as mud and leaves.
3.The system must be filled with the correct coolant.

4. The water pump and thermostat must be operating correctly.

Installations are to be undertaken by a competent vehicle mechanic. If in doubt, consult a qualified professional.
Always work in a safe environment and wear PPE where necessary. Disconnect the vehicle battery before beginning installation.

Failure to comply with the above may result in your warranty being void.

R5T2 FIXING KIT
Part No. 140131
x1 Kit

M6 Nyloc Nut
x4

M6 Washer Form A
(Small Diameter)
x4

FUSE
SIZING

To prevent damage if a cooling fan gets blocked, the circuit powering the fan needs a 
time-delay type fuse with the correct amperage rating.

This installation uses one 10“ suction fan - part number FAN0193HP (F31P-12E8102-13S).
The nominal running current is 12 amps.

10" SUCTION FAN
Part No. FAN0193HP
x1

UPPER FAN BRACKET
Part No. 130246
x1

LOWER FAN BRACKET
Part No. 130247
x1

MALE FAN CONNECTOR KIT 
Part No. RTB-2
x1 Kit


